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TABLE 3-4.  Abortions in Relation to Length of Gestation by Method,
Complications, and Age of Patient, Oregon Occurrence, 2005

Method, Complications and
Age of Patient Total

Weeks Gestation

< 9 9-12 13-16 17-20 21-22 23+ Unk.

Total ....................................... 11,602 7,505 2,646 772 406 147 80 46
Suction Curette ....................... 6,757 4,118 2,150 348 94 23 9 15
Medical (Non-surgical) ............ 2,405 2,333 36 1 7 6 – 22
Dilation & Evacuation ............. 2,401 1,046 454 422 296 108 70 5
Intra-uterine Instillation ........... 1 – – – 1 – – –
Vaginal Prostaglandin ............. 17 2 1 1 5 6 1 1
Sharp Curettage ..................... 3 1 1 – – 1 – –
Other ....................................... 15 4 3 – 3 3 – 2
Unknown ................................. 3 1 1 – – – – 1

Complications

None ....................................... 11,260 7,228 2,601 767 401 145 78 40
Hemorrhage ............................ 8 7 1 – – – – –
Infection .................................. 49 41 7 1 – – – –
Uterine Perforation ................. 1 1 – – – – – –
Cervical Laceration ................. 2 1 1 – – – – –
Retained Products .................. 86 62 14 2 4 1 1 2
Failure of First Method ............ 27 25 – 2 – – – –
Other ....................................... 101 86 11 – – 1 1 2
Multiple Complications ............ 29 24 4 – – – – 1

Age Groups

< 15 ........................................ 48 21 10 8 5 3 1 –
15-19 ...................................... 1,899 1,071 540 152 76 30 21 9
20-24 ...................................... 3,759 2,364 884 285 152 41 27 6
25-29 ...................................... 2,672 1,781 588 160 79 39 17 8
30-34 ...................................... 1,686 1,168 340 96 44 21 6 11
35-39 ...................................... 1,061 744 197 56 40 11 5 8
40-44 ...................................... 418 311 78 13 9 2 3 2
45+ ......................................... 31 27 3 1 – – – –
N.S. ......................................... 28 18 6 1 1 – – 2

– Quantity is zero.




